i$ not specitie

> Shape C -
1) A'pool is surrounded by a deck 3.5 m wide. Find the area of the
pool if the area of the deck is 301 m’.

This problem cannot be solved specifically because the shape of the pool is not
given. However, if we choose a shape, we can solve problem.

frame = whole - hole
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5) Ben weighs 30 1b more than Ann, and their canoe weighs twice as much
as Ben. If their canoe weighed 20 Ib less, its wieght would equal the sum
of Ann's and Ben's weights. How much do Ann, Ben, and the canoe each weigh?
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